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QUESTION 1

Which two statements are true about Agile Boards in Visual Builder Studio? 

A. The estimation type of a board can be Story Points or Target Weeks. 

B. In a Scrum board, tasks are broken into small actions to be completed in fixed duration cycles, called Sprints. 

C. In a Kanban board, tasks are managed with a focus on continuous delivery. 

D. A board is a metric that defines the relative effort of work and helps to understand the complexity of an issue. 

Correct Answer: CD 

 

QUESTION 2

When you create a domain that includes the Java Required Files (JRF) components, you must select an 

existing database and provide connection details. 

If provisioning is not successful and you find an error " Failed to validate db 

connectivity" in your Terraform job logs in Resource Manager, which is not the probable cause? 

A. You tried to use a 1-node VM DB system that uses Logical Volume Manager as the storage management software. 

B. You selected an OCI database running Oracle Database 12c or later, and you did not provide the name of a
pluggable database (PDB). 

C. You entered the wrong database password or a plain text password. 

D. The database does not allow the compute instances to access its listen port. 

Correct Answer: A 

 

 

QUESTION 3

Which life cycle is followed between Persistence Volume (PV) and Persistence Volume Claim (PVC)? 

A. Provisioning, Binding, Using, Releasing, Reclaiming 

B. Provisioning, Using, Binding, Releasing, Reclaiming 

C. Provisioning, Reclaiming, Binding, Using, Releasing 

D. Provisioning, Releasing, Binding, Using, Reclaiming 

Correct Answer: A 
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QUESTION 4

The SOAP protocol relies on XML messages. However, Oracle Mobile Hub APIs represent data as JSON 

internally. The Oracle Mobile Hub SOAP connector APIs use a translator to convert data back and forth 

between JSON and XML. 

Which two statements are true about the translator? 

A. It provides a perfect mapping between JSON and XML. 

B. It offers configurable mappings through XSLT. 

C. It is mandatory because the SOAP connector APIs cannot bypass it. 

D. It offers a comprehensive mapping between JSON and XML, but some limitations exist. 

E. It is recommended, but it is possible to bypass it if needed. 

Correct Answer: CE 

 

QUESTION 5

Before you create a domain with Oracle WebLogic Server for OC If you must provide these passwords in the encrypted
format and not as plain text: Administrator password for the new domain Administrator password for an existing
database, if you are creating a domain that includes the Java Required Files (JRF) components Client secret for an
existing confidential application, if you are creating a domain that uses Oracle Identity Cloud Service for authentication 

Which OCI service must you use to encrypt sensitive data? 

A. Oracle Cloud Infrastructure Vault 

B. Oracle Cloud Infrastructure Resource Manager 

C. Oracle Cloud Infrastructure Identity and Access Management 

D. Oracle Identity Cloud Service 

Correct Answer: A 

 

1Z0-1043-20 Study Guide 1Z0-1043-20 Exam
Questions

1Z0-1043-20 Braindumps

Powered by TCPDF (www.tcpdf.org)

1Z0-1043-20 Study Guide | 1Z0-1043-20 Exam Questions | 1Z0-1043-20 Braindumps                                3 / 3

https://www.leads4pass.com/1z0-1043-20.html
https://www.leads4pass.com/1z0-1043-20.html
https://www.leads4pass.com/1z0-1043-20.html
https://www.leads4pass.com/1z0-1043-20.html
http://www.tcpdf.org
https://www.leads4pass.com/1z0-1043-20.html
https://www.leads4pass.com/1z0-1043-20.html
https://www.leads4pass.com/1z0-1043-20.html

